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RORZ [ ADLFICDVTENEZDIRICEER T L. ROBROEAZTAL K. (B HEDEAEBLTEDE—RIBIEARE.]
a) 3x3—5x2y +2y3 —xy2+3x+1 [x] a) (a+b)(@*—ab+b* =a’+b’ b) (a —b)(@* +ab+b*) =a’>-b>

b) Sxy —4x?2+y2—-2x—-Ty+6 [y]

c) (a+b+c)?=a?+b%+c?+2ab + 2bc + 2ca

A=x24+2x—1,B=14+2x—x2—-x3,C =x*-6x2 + 1 DEE, ROAEHED L.

a) A—B+C =
b) AC =
©) AB+C = ROER DA RENBRY K.

a) 3ab —6ac = b) 2a2%b —ab? =
ROELZ DX ZTEE K.
a) —a?x (-b)* = b) ab*(a® - 5b%) = c) x2—x= d) (a+b)x—(a+b)y=
¢) (=3a%bh)3 x (—2ab3)? = d) (3x +4y)? =

e) x2+x—6= f) x2-7x+10=
e) Bx—4H(Tx—-1)= f) Ox+y)(x+5y) =

g) 3x2—18x +27 = h) x2 —1lxy +24y% =
g) (a% + ab + b?)(a® —ab + b?) h) (x2 + 3xy — y?)(2x — 5y)

i) 25x2—4 = j) x3+8=
i) (a+b+c)a®+b*+c*—bc—ca—ab) = k) x*4x = 1) 3x2—5x—2=

[E=ITH<]



(6] ROBREETTL, BERUERDL.
a) (x2-3x+5+(x-2) b) (x3—2x2+4x—8) =+ (x—2)

c) 2x*4+2x34x) = (2x2+3x+1) d) (x3—x)=2x2—x—-1)

x DERERTROBREZTTV, BERYZRDK.
a) (x2—3ax —10a?) = (x — 5a) b) (x3 —3a%x) =~ (x? + ax —2a?)

f(x)=x3-3x+1&795%.
a) f(x)% x — 2 TCE>fcEEDRYERDL.

b) f(2) DEZFELE L.

9] REDFERAFABLT, f(x)=x3—x2—2x ARORTE >tz =DRUAERD L.

a) x—1 b) x-3

c) x+1 d) x+2

a) x—1, x—=2, x+1, x4+20D>5 x> =3x2+ 4 DRKIB>TOLBEDENR.

b) x3—3x2 +4AEBPBR LK.

EHEBABOT x3 —4x2 + x + 6 *ABDBE L.

2 _
Y72 pashRiEd BT - HEOEERUESELT,

x+1
x2 =2 ®Y) -1
= (@ + =x—1+
x+1 x+1 x+1

DED, BREDFIHDBIVIEROAEREDHNOEICTEZEHNTES.
ROI%E, BREDFHIDELUVEROAHEEDHDOFEICE L.
5x + 4

3) x—2

2x2—x+3_
2x+1
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